An Introduction to Capped Rawn (Cappy) Chapter 1. 7/7/07

Cappy is a game played at IDA/CCR Princeton since 1982. It is

played between a gang of kibitzers, who maneuver the Black pieces,

and a masochist who must mate with a certain pavn called the cappy.

We use uppercase for the White men only [KQBNRPC] with C for the cappy.

**%* The Rules of Cappy *#x*

Usually the cappy starts at g2, but £2,b2 have also been tried.

To compensate for the exposed cappy, White starts with two moves.
~w~ TO win on the board White mist deliver mate with the cappy.

In return, White loses if mated, or if the cappy is captured or

promoted, or if Black is mated with a different piece or pawn.

(An interesting variant is if White may not promote any pawn.)

Otherwise the rules of ches$ are followed. Some consequences:

i) The cappy is not treated like a king; an attack on the cappy can
be ignored if White checks the Black king. 1In the heat of battle
a single-move capture of the cappy is occasionally overlooked,
and the game continues without-material consequence.

ii) A discovered mate delivered with another piece by moving the
cappy is not mate, but a loﬁs for White. However, a double-
checkmate by moving the cappy is possible.



a)

b)

c)

d)

e)

Miscellany

Our clock rules are designed in the interest of the game, rather than
to terminate the game. An illegal move, when detected, is retracted
with the offending player losing some ticks off the clock, while the
other player gains some ticks. If a flag falls in a lost position,
the other player usually prolongs the pain by feigning ignorance.
Even when one player makes a very poor move, the other player often
treats it as an illegal move, with the consequent clock adjustments.

A cappy player of Master speed-chess rank can usually play a novice
(a player who has never played tournament chess) roughly even with
five minutes apiece on the clock. (The relative times may need
some adjustment, but seven to three for either side is rare.)

This is quite different than time-handicaps, where often the only
question is whether the better player mates before forfeiting.

Cappy is played in the presence of a random element (RE), which

is the relative strength of the Black moves. Whereas chess is played
and analyzed in a deterministic (perfect information, no RE) scenario,
other popular games like bridge, backgammon, and poker have RE’s.

There is no "best" move in general, for either player!

This is a consequence of the RE. With Black a "good" player,

best could be defined as the quickest win (usually of the cappy),

which would suggest sharp tactics. Or for a lesser player it could

be to make the safest move now, that will eventually lead to a win most
surely; this would suggest long-term strategic play. But in either case,
with White the better player, Black runs the risk of being outplayed.

What should White’s strategy be? Should it be to prolong the safety of
the cappy, or create holes in the Black defense at all costs, or ...7
Since White starts with a lost game, the only hope is to take risks to
improve the White position.

The openings that have evolved are not in the chess books.
The suggestion to "just play chess" as Black doesn’t seem
to work well with players of suitable relative strengths.



1)

2)

3)

4)

5)

6)

Why Play Cappy?
Cappy is a fair game between two Players of disparate talents,
in which either side can take time to think.

There are fascinating endgames which can test the best of analysts.

There are amusing sequences which only occur in Cappy, such as the mop,
the swinging rook, the chase, the mate defense, and the punching bag.

Since White starts with a dead lost position and has no best move, it
turns out that Cappy, unlike chess, is a game in which White must bluff.
The "Cappy players" (a.k.a. the kibitzers, one of whom plays the Black
pieces) did not appreciate this element of the game for several years.

One of the consequences of the RE is the role of the kibitzers.
The kibitzing element is abhorrent to chess players, where the
best move is best and pointing out a single move can be fatal.
But for games with a RE, kibitzing in moderation can lend a
social element which is beneficial to the game. (The backgammon
chouette provides a natural cadre of kibitzers.)

What congtitytes a good strategy for White is most dependent upon
the style of the Black player. It is here that the kibitzers can
wield their greatest leverage, by causing Black to alter his
repertoire during the game.

Cappy is more fun than chess -- you don’t have to win to have a
good time. This is partly because it is a fair game which is
nonetheless massively out of balance, and which enjoys (suffers?)
large swings of fate. Nearly always, someone has a lost position.



Some Endgame Puzzles (Thanks to Paul Lemke for corrections/confirmations)
Black has a lone king. For the first three puzzles, White has no pawns.
By symmetry, we may assume C lies inside the rectangle e2-e6-h6-h2-e2.
Thus Ch means the cappy is on the h-file, one of Ch2,Ch3,Ch4,Ch5,Ch6.
White moves first in all positions.

Pi1. Show that with Ce + Q, or Ce6 + Bel + R, or Cg6 + Bgl + R,
White can mate, but only if Black cooperates.

P2. Show that White cannot mate with Ch6 + R + R, or Ch6 + Bhl + R,
or Ch + Bhl + N.

P3. Show that, except for P1-P2, White mates by force in all cases
with either C + Q, or C + any two of the pieces R-R-N-N-Bgl-Bhl .

P4. One-piece mates. With C + one piece [R,B,N] there is no forced mate
without a favorable position. Find all C positions so that White can
mate with Black to move from Bb2,Kf6,C?,kh8. [£2,f3,f5,g2,g3,g4,g5]
Note with Cg2-g6, the King is mated on the 7th rank. Another 3vsi s
mate (meaning, X/K/C mates by force vs k) is Qe7/Kf7/Cgb vs kh8.

No other 3vsl mates exist. However, if the cappy rules did not
allow White to promote a Pawn, here are two 4vsl l-piece mates
(XKPC vs k): An RKPC 8th-rank mate starts Rf7/Ke6/Pf6/Cg6 vs ka8.
An NKPC 7th-rank mate in 6 starts Nh6/Kf7/Pf5/Cg5 vs kh8. The
only 4vsl 1-piece mate on a lower rank starts Qf4/Kg8/Pf3/Cf3 vs
kg6: Qf7 kg5, Kh8 kh6, Qf6 kh5, Cg4 mate on h5. A mate on h4 is
had by starting all men 1 rank lower. Is there a 4vsl 1-piece
mate on the 6th rank? (Only ranks 4-8 are conceivable.)

There is one other non-promotion XKPC mate: Bh5 Cgb Pe7 Kaway
vs kg7. White pushes the king to the 8th rank and arranges for:
BhS Kh6 vs kh8: then Bgb6 Kg8, Be8 Kh8, g6 Kg8 Bf7 Kh8 g7 1-0.

P5. No-piece mates. With Kb7,C7,kd7 how many pawns, none beyond rank 4,
does White, to move, need to mate by force without promoting a pawn?
[Answer: With one pawn, mate is possible but requires Black’s help.
But with Pe4,Pf4,Cg4 White mates starting with e5.

The final position is Kh6,kh8,Pe7,Pf7,Cg7.]
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P6. White has C + P, on the same rank and on adjacent files, defended
from behind by the king. Show that with the best possible Black
king position, White mates by force only in cases (a) and (b).
(a) P,C are on files e,f or f,g or g,f respectively.

(b) P,C are on g2,h2 or g3,h3 or g4,h4 respectively.
Most interesting is Pg5,Ch4,Kg4,kg7, which Black draws if Chb
instead, or if White fails to move sideways to or from f£3.

Note: In diagrams we use "p" for White pawn, "d" for Black pawn.

On P3: All mates with N+N are interesting, as is the mate starting from
Kf5,Rg5,ChS,Rf8,kh6: 1. Rf6 kh7 2. Rf7 any 3. Rf8 kh7 4. R5g8 kh6
5. Rh8 kg7 6. h6 1-0.
Most interesting is CEE+Bf14N. ——-meoee ool L ___

White corners the king on h8 (A4). | k| | k]| k |
As mate is not possible with kg8, | B || N || K I
White forces kf8 starting with (B). | N CK | | BCK | | N BC |
White moves Kh6-Nd8-Nc6, then | (. (I |
relocates Kc7 (C). A pure mate [ [ (I !
then follows with Ne5-Ba2-Ng6-Cf7. | [ Pl [
The mate with Cg6+Bgl is simpler. | (. [ I
(No mate with Ch/Bhl; see P2] |(4&) I 1(B) | 1(C) !
On P4:
k|l From kg6,Bh6,CE5: kg8, Cf6 kh8, Bg7 1-0; or kh8, Bf8 kg8,
[ Be7 kh8, Bd6 kg8, Cf6 kh8, Bf8 kg8, Bhé kh8, Bg7 1-0.
K | From kf7,Bf8,Cg5: kh8, Bg7 1-0; or kh7, Be7 kh8, Bd6 kh7,
[ Bf8, khs, Bg7 1-0. Thus with the king hemmed in, White
| can chapge tempo or not and win with cappy on the f or g
| file on ranks 2 through 6. From the starting position,
B | €f4 allows the king to escape with kh7. So the answer is
|

Cf2, C£3, Cf5, Cg2, Cg3, Cg4, Cg5 all win and Cf4 doesn’t.



(SRR S —

The key position to mating with P,P,C is that

Kk White mates on the left with either side to move.
PP 1. e7 kh8 2. Ke6 kh7 3. Kf5 any 4. g6;

1. ... kh8 2. Kg6 kgB 3. e7 kh8 4. Kh5,g6 etc.

With Kb7,Pe4,Pf4,Cg4, White mates if the Black king

I
l
l
C | White waits at gb-h5 for ... kh8 then Kh6,f7,g7.
|
|
l
| is anywhere on file d-h and rank 6-8, except for d6.

Starting with Ka7,kc7 White needs Pd4,Pe4,P£3,Cg3, at least, to win.
With six pawns on b4-g4 and Black’s king in front of the pawns,
White can mate, without promoting, with any pawn of his choice;
i.e., with any one of the six pawns the cappy.

With Ch instead of Cg, it appears the = =  =====—wr  ——ceeneo

begins with g7, and the king is trapped
by pawns so White can get his king to g4
as on the far right. He waits for kh7

to play Khb, then mates with £6,g6,Ch7. = —~---=-=== = —-—weene

dead-minimum no-promotion mate with pawns | k| ] k|
only is Pe4,Pf4,Pg4,Ch4,Pg3 with Kb7,kd7. | K | P |
White starts with e5, pushes the king | p pCl | p Ci
into the corner then positions his pawns | pp | | pp |
e6,15,g5,g6,Ch6 as on the right. White | i K |
l | |
l l |
| l I



The Pg7 is needed to cover h8, and Pf6 is needed to  ———=—-en
cover g7. The Ch7 mate requires defending by Pg6. I

The Pe6 is needed to keep the king from f£7. The Pf5 is | P
needed to keep the king from g6, since mating from the | ppkC
position on the right requires cooperation.

as a win for Black, but with that rule the endgames

I
I
Another suggested rule change is to have a draw count !
l
would be much less interesting. |

On P6: White can’t mate with his pawn on the h-file,
as Black runs to h8 and sits. It’s a draw with Ce,Pf by P1.

With Pg5,Ch4 Black draws if he can move his King to squarse (x) for
each White K square: Ke5/e4/g4(gs6), Ke3/£3/£5/g3(g7), Kf4/h3(£f7),
Kel2/£12/g12/h12(£8,g8). So if White doesn’t move sideways to or
from £3, Black can draw.

The Swinging Rook and the Mop

S et At e = et 4t = - ——— v A —— e —

It’s not hard to guess why these maneuvers are so-named,

Starting from the initial position, Black has just captured at g4.
All Black's pieces, save two pavns, are defended, and Black has a

big attack on the cappy file. Since White loses by mating with a

rook or gueep, the contipuation Bb7 kb8, Ba6 ka7, Rb7 ka6, Qc6 kab
is a win for Black. But; beware the swinging rook:

1 Qc6! kb8 Rb7 ka8 RA7 kb8 Rb7 ka8 Re7 kb8

' kr nlky nlk r nlkxr' nlk r nlkzr n | You get the idea.

| d pbbdd| d npbdd! R nbbdd| Rbbdd| R bbdd | Rbdd! The rook swings

|B B Q B Q B Q B Q B Q | back and forth

{ q | q | q | q | q | q | from b7, clearing
l'dr | ¢dr | dr | dr | dr | d r | the seventh rank.
Ip Q plp plp plp plp plp pl Seven moves later
b'p Cpl pCopl popl popl p Cp |l p Cp | we come to the

| R RK[R RK | RK | RK | RK | RK | eighth-rank "mop":

T T TS et e — e e m e e ———— O e = — 24



12 Rb7 ka8 Rd7 kb8 R4S ka7 RA7 kb8 Rb7 ka8 Rg7 kb8 Rg8 ka7 Rg7 kb8
Ik r nlkr nl R nlk n |k nl| k n | R | k
| R | R |k | R I R I R |k | R
IB Q IB Q !B Q B Q IB Q IB Q IB Q |1B Q
I q | q | q | q | q | q | q | q
' d r | ¢a r | d r | 4d r | 4dr ) d4ar | dr | dr
Ip plp plp plp plp plp plp plp p
t p Cpl p CI| p CIl pC!i p Cl p CIl p Cl p Cp
| RK | RK | RK | RK | RK | RK | RK | RK |

How to part Black from his last two pieces? Another form of the mop:

20 Rbl gb5 Rb7! ka8 R7b5 ka7 Rb7 kb8 Ra7! ka7 Rb7 ka8 Rf7 kb8 Rf4 1-0
| k Ik | Ik | |k |k |
| R | R Ik I R |k | R | R
B Q IB Q IB Q IB Q IB Q IB Q IB Q IB Q
[ q | g [ R | | I I |
| d r | 4d r | 4 r I 4d r | &d r | 4d r | d r | d R
[p plp plp plp plp plp plp plp p
[l p ¢p|l p Cpl p Cpl p CpIl p CoIl p Cpl p Cpl p C
R K|R XIR KIR KIR K| K | K |

e el

White checked the Black king for 26 consecutive moves!

The end comes three moves sooner if Black either interposes
qf7 or captures gb7 when he might have. For example,

18 ... qf7 19 Rf7 rf7 20 Qcb kb8 21 Qed ka7 22 Qe3 any,
then 23 Qe6 or Qe8 followed by 24 Qf7.

With the clock, the extra moves can make the difference.



The Chage

On an open board, "the chase" is shown starting with Cf2:

- nh3 3 ngl f4 ne2 f5 ng3 f£6 ne4 £7 ngh promotes 0-1

e e e —————— 1t - - —— " $v B B 1t S v - —— ——— o — o —

It also takes a slightly less slegant form ("the come-on"?)

.. nh3 f£3 ngb f4 ne6 f5 ng7 £f6 ne8 f7 nd6 promotes 0-1



The Mate Defense

Ir k| This ploy can be most annoying to White.

[d dd| On the left, White would gladly swap

[ | both pieces for the rook, but after Qf7,

| | Black wins with Rf8.

l |

[ Q C | We show how it can take a huge material
ippp pl loss to (almost) thwart the mate defense.
IR K| 1. ... kh8 (right) loses quickly for Black:

2 Nd3 nbl BRbl rf8 RbL8 rb8 Ne5 d6 Qdé 1-0
r k| rk|lr kl r k| r k|
d dd|i d ddi d ddl dd|
| ! | d I Q I
| [ I N N
f{ pC | PC | PC | PC | PC |
Q N I N 1Q N 1Q | !
1P PBPP|P PBPP{P PBPP|P PBPP|P PBPP |
|Kn RIKR |K |K X |

A direct assault on the cappy by 1.
But after 1 ..
vanishes. So ...

2 Qb3 kh8! Nd3 rf8 Qb8 rb8 Neb rf8 RbL8 rb8 NA7 rd8
| r k| r k|l r k| rk|r k| r ki
] d ddl d dd| d ddl d dadl d ddl N dd|
I | | I | | |
I | | I N ] N |
| PC | PC | PC | PC | PC | PpC |
| Q | QN | N | | i

|PN PBPP|P PBPP|P PBPP|P PBPP|P PBPP | P PBPP|
|KR RIKR RIXR RIKR RIK RIK Ri

10

[Q I
|pN npBpp|
|KR Ri

Ng6 looms.

. g5 2. £5 rbb loses to Qcb.
. nb3!, White cannot play ab as the Rb8 deflection

7... re8 loses

to Rbl then Rb8.
It begins to get
interesting, and
White is lost.

The White tries
are Rbl and Nf6.
Rbl loses quickly:



8

8

Rbl rd7 db5 hé Rb8 kh7 Rf8 rd5 Kb2 rd1

ki k| R | R | R | 9. d5 threatened
r dd] r d | r dk| dk| dk| Rb8 then Ba7.
! dl dl dl dl  So Black had to
| P | P | | |  abandon the mate
PC | c | c | c | C | defense. On the
! I | f |  left, Black wins
P PBPP|P PBREP|P PBPP|P  PBPP|PK PBPP] with ... rfl next.
KR |KR X 1K | r | The other try:
Nf6 gf e4 rg8 h3 rg2 Bhd kg7 a4 re2 Rel rh2 Re3 kf7
r ki k]| k| I | f I
gl dl dl kdl kd| kd | k d|
d | d | d | d | d | d | d |
f | | | | | |
PC | PPC | PPC | PPC B|P PPC B|P PPC B|P PPC B|
[ | Pi P| P| P| R Pi
P PBPP|P BPP|P Br |P r | r | r| rl
K RIK RIK RIK RIX RIK R IK ‘

(The last move, kf7, was to avoid Rgl or Rg3 at the wrong moment]
In this position either 16 Bel rhl or 15 d5 rhl, Rel rh3 win for Black.
No better was 11 Rfi rh2, h4 rh3, Bel re3, £5 red4, Be3 rhd 0-1.

The only qther try seems to be 15 e5:

eb fe fe kg6 ab rd2 Re4 rda 0-1.
| I I | This position demonstrated
k di di dj di many Cappy strategies --
f k| k| k| the mate defense (three
d | c IP ¢ P C | times), deflection (with
P PCBIP R BI P Bl 1R B the rook pins), masking
R Pl R Pl R P Pl the cappy, and finessing
bl rl r ! | to win the cappy against
K B3¢ K [K I superior material.

e e . — —n ——— 4% " ——_—




An Introduction to Capped Pawn, Chapter 2. Eight games. 12/31/05

Some Games We use initials only to mask the identities of the culprits.
Games A--H. More recently discovered games on Cgame.log.tex.

A 3/29/84 - GS-DR - Cf2 - 1. Nc3/d4 (= White’s two first moves).
1 ... £f56 Qd3 d6 Nf3 nc6 Bf4 nfé h3 b6 a3 bb7 d5 ne5 Qf5 gd7
| rnbgkbnr | rnbgkbnr |r bgokbnrlr bgkb rir bgkb rlr gkb rir gkb rir kb rji
|ddddd ddlddd d ddlddd d dd|ddd d dd|d d d ddldbd d dd{dbd d ddidbdqd dd|

| | d | nd | ndn [ dndn |[dndn | ddnon | ddn |
| da | d | da | a | a | d | Pnd | PnQ |
| P | P i P | PB | PB | PB | B | B |
| N ] NQ | NQN | NQN | NQNPIPNQNPIPNQNPIPN N P|

|PPP PCPP|PPP PCPP|{PPP PCPP|PPP PCPP|PPP PCP | PP PCP | PP PCP | PP PCP |
IR BQKBNR|R B KBNRIR B KB R[R KB RI[R KB RIR KB RIR KB R|R KB R|

9 QA7 kd7 Beb de Neb ke8 000 rd8 e4d e6 BbS ke7 rhel gbu Bc6 bh6
Ir b rir brlr kbzxrl rkbrl rkb rj rbrl rbrl r ri
ldbdkd dd|[dbdkd ddldbd d ddldbd d ddldbd dd!dbd k ddldbd k¥ d|dbd k 4
lddn | d n [ddn [d4d n |d dn | d dn | d dnd | dB dndb|
| Pn | P& | PN | PN | PN | BPN | BPN | PN
| B | [ B | I P | P | P P |
IPN NPIPN NPIPN PIP N PI|P N PIP N PIP N PIP N P|
| PPPCP | PPPCP | PPPCP | PPPCP | PP CP | PP CP | PP CP | PP CP |
[R° KB RIR KB R|R KB R|] KRBR|I KRBR| KR R| KRR | KRR {

e e e e . ————— = ——————— = & A S - v W v v - —— == = An A o A s e
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17 Kbl bf4 Nf3 bg3v Cg3 nh5 Cg4 nf6w d6 cd Nd5 ed ed kf8 g5 ng8

T vt v o ——— ——— - —— ——— e ———

| r rI r rl r I r rl r rl «r rl rXkr|l rkorl
ldbd k dldbd k dldbd k didbd k didb k dldb k d|db dldb di
| dB dnd | dB dnd | dB d d | dB dnd | dBddnd | dBd nd | dBd nd | dBd d |
| PN | P I P =nf P ! [ | P | P C|
f Po | P | P | P C | PC| PC) C | i
[P N PIPN NbP|PN NCPIPN NPIPN N P|P N PIP N PIP N P
| PP CP | PP CP|PP P|PP PI|PP P|PP P|PP P | PP P |
KRR | KRR | KRR [KRR | KRR | KRR | KRR | KRR |

T T T M m—— - e e ——. e — . = ——————— . ——— 3 = > o e

' 25 Nd4 h6 Neb kf7x Nd8 kg7 Ne6 kh7 Nf8 kg7 Ne6 kf7 Nd8 kf8 Re8 kg7

EEEIImISS m e e e —— e e ——— ——— ——— o 9t

| r knr| r arl N nr| nr| Nar | nr| N knr| NR nr|
| db [db k Idb Xk |db kldb Xk |db k |db [db k|
| dBd dd| dBJN dd| dBd dd| dBAN dd| dBAd dd| dBdN dd| dBd dd| dBd dd|
| P C | P C| P C | P C | P C | P C | P C | P C |
| N | | [ | | [ ! |
|P PIR PIP PP P|P PP PP P|P P
|'PP P PP P|PP P|PP P|PP PIPP P|PP P|PP P|
| KRR | KRR | KRR | KRR | KRR | KRR | KR |KR I

T T T T T e e e e e e e ——— e ————r e . ———

[ R nr| R rl NR rl NR r|l N k| I
fdb k [dp k |db k |db kldb | dN ki
| dBdN dd| dBdNndd| dBd ndd| dBd Cdd| dBd Cdd| dBd cddi
| P CJ] P C}| P CIl] P | P | P |
I I I I I I I
|P PIR Pi{P PIP PIP PIP P]
| PP P | PP P|PP P|PP P|PP P|PP P |
| KR l'¥k R IX R IX R IK R |K R |
u Black has a good idea but should play 16. ... bc6 next.
v A typical exposure maneuver.
w It lookg like the cappy is a dead duck,

but Black goes astray with some stock responses.
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X Xking to e7-f7-g7-h7 still wins.
y Last chance to draw was 33. kh7.
z The cappy was hanging for 16 of 17 moves, 11 in a row, but
the bishop was hanging for 22 straight moves!
It’s mate in 13 or so:
39. g4 g5, Be8 hb, Rel a6, Re7 kh6, Rg7 hg, hg ab,
45. Rg6 kh7, Nd8 b5, Ne6 b4, Ngb kh8, Ra6 kg8, Nef ba, £7.

B 2/25/88 - GS-AR - Cg2 - 1. e4/h4 (= White’s two first moves).
This game illustrates the "punching bag", in which the Black king
gets shoved around the board until a piece (or pieces) threatening
the cappy gets caught in the crossfire. Get out an extra chess set.

1 e4 hd g5 2 hg e5 3 Gh5 das 4 Nc3 da
frnbgkbnrl{rnbgqkbnr|lrnbgkbnr | ronbgkbnr |
ldddddd dldddd d dlddd 4 dlddd d d|
[ I | | |
| d | d p | dd pQ| d pqQl
I p p | p I P I dp |
| I | | N !
lpppp PC Ipppp PC Iipppp PC Ipppp pPC |
| RNBQXBNR|RNBQKBNR|{RNB KBNRI{R B KBNR |
5 Nbi qd7 6 Bc4 agd 7 Qf7 kd8 8 Qf8 kd7

lrnb kXkbnr|lrnb kbnr|ranbk bnr|rnb Qnr |
ldddgq d dlddd d dlddd Q d!dddk d |
| I i | I
! d pQl d pQl d p | d p

I dp I Bdp q | Bdp gq | Bdp gq

! I I [ |
lpppp PCPlpppp pPCpipppp PC Ipppp pC |
| RNB KBNR|RNBQK NRIRNB XK NRI!RNB K NR |

. T T T T T ks 4k o o o . v e e = ————— —— 1 > - T8 M o o o e A o oy e e A .



kd8 12 Bc8

ne7 11 Be6

10 ef

qfs

9 Qf5

e - = e

—_— e —— e — e

—_— e ———

kd2

16 Rh3

h4

h6 15 Nf3

ngé 14 d3

13 f6

rag8 19 a4 nf4 20 Bf4 ef

18 Nc4

ncé

17 Na3



ne7

£3 24 Cg3

rh6 23 Nh4

18 22 gb

21 £7
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33 (b8 kc2 34 Na3 kd3 35 Nf4 1-0z  Mating position.

e e —— . ——— — - t— —— e e e e e e e - o ————— e ————————— ——

l Q I Q o Q | Q i
| d d I 4 d | d d | a d |
| N | N | I k|
| dd | d | d | d C |
I p Nd [ p d | p d N I p d N |
l Pp dCr|N pk dCrIN pk dCr|N p d !
I pk p I p P I p p I p p l
| R K i R K | R K | R K I

T e T T T e e e e e e e e e e e e ——— . ———— o —— 4+ 2t e . 4 e . . o 8. e o o

w Black thinks a kill is at hahd, but this move loses "quickly".
x If the king were on ¢8, White could win, as here, with g4:
28 g4 rhl 29 kd2 ral 30 Ng3 kb8 [... ra4 31 Nd7!] 31 Nd7 ka8
32 Ncb6 cb 33 Nb6 then 34 £8=Q 1-0.
y If dc then Qcb, Qa3, Ne3, Nf4 wins the rook.
z White mates in 8 with Qe8, QeS, Nh3, Qg8, Nf5, Cg4, Cg5.
Did you mjss two quick wins for Black?
After 21 f7 rg7! the advanced pawns fall.
After 26 g7 re6+! K any rf7 it’s curtains.

_..__h.._..__—.._—....,__-.._—_-_..___—-_—._.-_-..._-._._____......__——.-_........_—.--_____——____.__—b_._._

C 8/05/96 - GS-AR - Cg2 - 1. d4/e4 (= White’s two first moves).
Black misses a quick win, then falls for a trap, losing two pieces.

1 ... g5 ebef Be2 Nc6 h3 N3e7 Bgb hSw h4 bh6é  Bh5 bgs hg ngé

T T T T T e e e s e e ——— o ———— e —— ——n s e

Irankbnrqubqkbnrir bakbnrlr bgkbnr|r bgkbnr|r bgk nrlr bgk nrlr bgk nr|
ldddddd dldddd d didddd d d|ddddnd dlddddnd |ddddnd |ddddnd |dddd d !

r ' d 1 md | & | 4 | db d | dn

| d{ P4l Pdl P4l PBAl PB4l PbB| P PR
b»» P 1P 1 P | P | P Pl P Pl P |
I I l | Pl Pl l I

IPPP PCP|PPP PGP|PPP BPCP|PPP BPC |PPP BPC |PPP BPC IPPP PC |PPP PC |
IRNBQKBNR | RNBQKBNR [RNBQK NRIRNBQK NRIRN QK NR|RN QK NRIRN QK NRIRN QK NR|

T T T T e e T e e e mae E e, e e et —— o ———— - e e e ————— e —



9 Qg4 nie7 Nc3 b6 Rh3 bb7 Nf3 b5 000 b4 Ne4 Nd5 Bg6 rh3 Qh3 nféx
[r bgk xlr bgk rlr gk rlr gk rlr gk rlr gk rlr gk Ir gk |
|ddddnd [d ddnd |dbddnd |dbddnd [dbddnd |dbdd d |dbdd 4 |dbdd 4 |
[ dn|d dn!ld dnl d n i dn | dn | d B | d B |

PP |
|

[ P PB| P PB| P PB| d P PB]| P PBI nP PBl nP P |

| P Q| P Q! P Q] P Ql!dP Q| dPNQ|[dPNQ] dPNn

I [ N | N RI N NR[ N NR| N Rl N rl N QI
|[PPP PC |PPP PC |PPP PC |PPP PC |PPP PC |PPP PC |PPP PC |[PPP PC |
[RN KNRIR KDNRI[R KN |[R K | KR | KR | KR | KR J

17 Qh8 ke7 Qf6 ke8 Bf7 kf8 Qf4 qe7 g6 kg7 Rh8 rf8 N3gb bed Ned rf7y

- [EE— e v e e em v - —————— — — ————— = = ———— - S s

ir g Qlr g Ir gk Ir k Ir ! r | r | !
|dbddkd |dbdd d |dbdd B |dbddgB |dbddgBk |dbddgBk |d ddgBk |d ddqrk |
{ d B | dQB | aq | d | d P | a P | d P | d P |
| PP I PP | PP I PP P P | PN | P |
| AdPNn | dPNn | dPNn | AdPNQ | APNQ | dPNQ | dPbQ | dPNQ |
| N | N | N N N N I

|PPP PC |PPP PC |PPP PC |PPP PC |PPP PC |PPP PC |PPP PC |[PPP PC |
! KR | XR | KR | KR [ KR { K Rl X R| K Rl

25 Rh7 kf8z Rf7 qf7* gf d6 Qf6 d5 g4 mates

l ! | l I
[PPP PC |PPP PC |PPP PC |PPP PC |PPP P seems to start with www
I K I K | K | K | X x Falls for the trap. It’s a
---------------------------------------- draw after fg, 17 Qh8.

y Black thinks White can’t mate with about 4 seconds on his clock. Oops.

z kg6, Qh6 kfb, £6 would have mated even faster.

* ke8 holds on a bit longer.

quickest win after g3

I k| k | k| k | k | w The kibitzers were pushing
f[d ddgr Rld ddq |dd P |dd P |dd P | for ng6, Bd8 nf4, but
| dP | dP{ dd | aq | aQ | with no convincing line
! P | P | P | d4p | 4P | put forward, Black settles
| a PNQ | APNQ | dPNQ | dPN | dPNC | for a slower assault. The
) |
f
!



T e e e . Tt o vt " o - - ——— —

D 8/16/96 - GS-RC - Cg2 - 1. d4/e4 (= White’s two first moves).
White misplays a good position, but Black telegraphs his intentions.

1 ... d6 Bf4 nd7 h4 g7 Nf3 h5 Qd2 Bh6 Ngb n2f6 Bd3 Qd7 Qe2 Qg4

T T T T M e e e e e e e e e e ——— e - oy 1t e

!rnbgkbnr [r bgkbnr|r bgkbnr|r bgkbnr|r bgk nrlr bgk nrlr b k nxir b k nr]
|ddd ddddidddndddd!dddndd d|dddndd |dddndd |ddd dd ldddgdd {ddd dd |

| 4 | 4 ' d d1 d dl d db|] dndb|] dnddbl d ndbl
| | i [ d| dl Nd| Nd| Nd|
PP | PPB | PPBPl PPBP| PPBP| PPBP| PPBP PPBgP|
I I | i N | N | B | B |

' [PPP PCP|PPP PCP|PPP PC |PPP PC |PPPQ PC |PPPQ PC |PPPQ PC |PPP QPC |
IRNBQKBNR |RN QKBNRIRN QKBNR|RN QKB R|/RN KB R|RN KB RIRN K RIRN K R|

T T T T T N e e e e e e e e e et a e ——— - —— o ot e — - —— e e

9 Qg4 bgd N1d2 bgs hg nd2 f3u h4 f£g h3  Cg3 h2 Bfl 000 Nf3v £3
lr  kaor|lr knaorlr konrlr korlr knorlr konr] kr nr] kr nr|
lddd dd |ddd dd |dddndd |dddndd |dddndd |dddndd |dddndd |dddnd |
[ d ndbpl d nd | d d | d d | d d | d d | d 4| d dd |

| Nd| bd| Pdi P | P | P | P | P |
| PPBbP|  PPBbP| PPBb | PPBbdl PPBP | PPBP | PPBP { PPBP |
| B | B | B | BP | B d B C| c | NC |

IPPP PC |PPPN PC |PPPN PC |PPPN C |PPPN C |PPPN  d|PPPN d|{PPP dl
IRN K RIR K RIR K RIR K RIR K RIR K RIR KB RIR KB R|

T T T T T T T T e e e e e Em e e e m—— - ——————

17 Rh2 fg  Be3 nlf6 Bd3 ng4 Kd2 rh2w Nh2 nf6x Be2 nhE Bgd kb8 Bh5 hSy

| kv nrf kr rl kr «rl kr | kr | kr | x r | kr

ldddnd  |dddpd  ldddnd |dddnd lddd d |ddd d |ddd d |ddd d |

l ' d dl dwndl d dl dd|] dndl|l d df d dal 4 !

| d | d | d | d | d | dn} dn| dd|
|
I
|
|

| PPEP | PPP| PPn| PPnl PPnl| PPn| PPB| PP

| NC | BNC | BBNC | BBNC| BB C | BC I B C | BC
| PPP RIPPP R|PPP RIPPPK  r|PPPK N|PPPKB N|PPPK N|PPPK N
R KB |R KB [R K |R IR IR IR IR

T T T T T T T T T e e M e e e e ——— e e ————, e —— e ot o e



25 Bgb rg8 Nf3 h4 Cg4 h3z Notes u-z:
| & r | k r |k r
lddd d |ddd @ [ddd d

I d Fod [ d

[ Bd| B | B
| pP | PP dl PPC

[ C I NC | N d
IPPPK  N|PPPK | PPPK

IR IR R z White: trade rooks, or promote a pawn.
------------------------ Black: keep White busy by opening files.

v A big mistake. KXf2-g2 Rh2 was safer.
w nh2 (kibitzers), but Black sees a win
X

so why slow down the win with nh27?
[He misses ne4 by sheer momentum.]

E 9/06/96 - GS-PL - Cg2 - 1. c4/d4 (= White’s two first moves).

Black falls behind in development, and falls .

. ¢6 dc gab Nc3 qcb e4 b3 Qf3 e5 Bd3 nh6 Nd5 bb4 Kdl qab

e Am e e A A v v e h A Ath ke e o v = - - B " 0 b v - ——— — o —— —

|rnbgkbnr |rnb kbor|rnb kbar|rnt kbnr|rnb kbnr|rnb kb rirnb k rlrnb k r|
ldd ddddd|dd ddddd|dd dddddldd dddddldd d dddldd d dddldd d ddd|dd d ddd|

I | [ b q | q I q nl g nl ni
| d lq P | q | | d | d | Nd lq Nd
| PP | P | P | PP | PP | PP | bP P | bP P
! I | N | N I N Q@ | NBQ | BQ | BQ |

|IPP PPCP|PP PPCPIPP PPCP|PP PCP|PP PCP|PP PCP|PP PCP|PP PCP|
|RNBQKBNR | RNBQKBNR IR BQKBNR |R BQKBNR|R B KBNR|{R B K NRIR B K NRIR BK NR|

9 Qg3 nc6 Qg7 rg8 Nf6 kd8 NgB ng8 Qg8 kc7 Q(f7 kb6 Ne2 d6 h3 ka6

lrbk rlrbkrilrbk rilrdk nilrd QIrb lr b Ir b |
jad d dddldd d dQd|dd d dQd|dd d dQd|ddkd d d|dd 4 Q didd Q didd Q dl
| n nl n nl n Nnl n | n | kn | knd Ik nd I
lg Nd g Nd Iqg d Iq d Iq d Iqg d Iq d Iqg 4a |
{ bP P | bP P | BP P | BP P | bP P | bP P | bP P | bP P I
|l B Q1 B i B | B | B | B | B [ B Pl

|[PP PCP|PP  PCPIPP  PCP|PP PCP|PP PCP|PP PCP|PP NPCP|PP NPC |
IR BK NRIR BK NR|R BK NRIR BK NRfR BK NRIR BK NR|R BK R|R BK R|

AT e A e e T e e e e e b fe e A — ta b b v ———— e A —— - —

u A risky move, but White must take chances.:

Black amnounces that nh4 can’t be stopped,

y The rook and Pgh,Ph5 aren’t enough to draw

N



17 c5 b5 a4 dc5  abb kb6 Ra5 ka5 bc6 flag

e - e - e — -, e e e ——— o ————————

lr b [r b Ir b lr b Ir b | After 10 Qg7, it may
ld Q did Q did Q dld Q dld Q di already be a win for
lk nd |k n | kn | n | P | White

lgdP & [qdd d IgPdd jkPdd [kdd |
> P Pb P |bP |bP |b P |
| B Pl B PI B Pl B Pl B Pl
[PP NPC | P NPC | P NPC | P NPC | P NPC |
IR BK RIRBK RIRBK Rl BK Rl BK R|

.-.-.,..._-__...-_.-_—g..-___...-...___.....__..._.-__—___...._-.__._.____..—.._—..—________—-.__..._-.__-_-__.

F9/26/96 - GS-DM - Cg2 - 1. d4/e4 (= White’s two first moves).
Black uses the mate defense for an (over-)extended period.

L ... h6 D4 gbs Bgb f6 Bf4 Nh6 Be2 Ngd Bgd hg Qg4 Nc6 Ne2 b6

| rnbgkbnr | rnbgkbnr | rnbqkbnr | rabgkb r | rnbgkb r|rnbgkb rlr bgkb r|r bgkb r|
lddddddd |dddddd |[ddddd {ddddd fddddd | ddddd lddddd  |d ddd [

I | J d | d nl d | d | nd |dn a |
~— | d| dd] Bd| 4| d| [ [ !
[ PP | PP Pl PP Pl PPBP|l PPBnP| PPB4P] PPBQP|  PPBQP|

I | I I I I ! | |
IPPP  PCPIPPP PC [PPP PC |PPP PC |PPP BPC |PPP PC |PPP PC IPPP NPC |
| RNBQKBNR | RNBQKBNR [RN QKBNR|RN QKBNR|RN QK NR|RN QK NRIRN K NRIRN X R|

T T T T T T T e T e e e e e e e e e —— o ——— ——— o ——

Ir gkb rir qkbrlrgkbrir kbrir X rlr X rlr ¥k rilr k r
ld ddd  [d ddd |d ddd ldqddd |dqddd |dqddd ’ldqddd B [d ddd B
Ilbdn d Ibdn d Ibdn dQ |bdn dQ lbdn dQblbdn dQBl dn dQ |qdn dQ

I
f
|
J | | I P| l | [ I
| PPBQP| PPBQP{ PPBP| PPB | PPB | PP | PP | PP |
| | P | P | P | P I P | P | P |
|PPPNNPC |PP NNPC |PP NNPC |PP NNPC |PP NNPC |PP NNPC |PP NbPC |PP NKPC |
IR XK RIR XK RIR K RIR K RIR K RIR K RIR K RIR R

T T T e e e e e e e e e e e E e r e e ————— ———————

10



17 Ke3 qb5 b3 a5 a3 na7 c4 qc6 RhBu b5 Rcl qb6 G5 qc6  ds qa6
Ir X rlr X rlr X rlr k rir k rRlr k rRir X rRlr k zR]
/d ddd B | ddd B |n ddd B In ddd B |n ddd B In ddd B |n ddd B |n ddd B |
ldn dQ | dn dQ |d dQldq d@ | q d@q d3 | q dQ Iq dq |

[ q ldq {dq ld ldd ldd |adap |ddPP

| PP | PP I PP | PPP | PPP | PPP ! PP | P

| PK | PP K |PPP K IPP K |PP K IPP K |PP K [PP K I
|IPP N PC |[P N PC | N PC | N PC | N PC | N PC | N PC | N PC |
IR RIR RIR RIR RIR | R | R | R

25 Nf3 rb8 Neb b4 a4 nb5 Nf7 ke8 Nd6v kd8 Nb5 rb5 ab qb5  Bf6w rh8

T T TS e m s e — e mt e —m . e e m——— e

|l rk rRI rk rRlrk rRl r k rRl r k rR| k 1rR| k rRl k 1
In ddd B |n ddd B | ddd B | dddNB | ddd B | ddd B ! ddd B | ddd

|

|
Iq dqQ Iq dQ iq daqQ Iq dQ |lq N dQ lq dQ | dQ | BQ |
|ddPP ild PPN  |dnPPN  |dnPP | dnPP |drPP | dgPP |dgPP I
| P ld P IPad P |PA P |PAP P& P |dP |dFP |
PP KN PP K [P K [P K |P K | P XK |PK |P K |
I PC | PC | PC | PC | PC | PC | PC | PC |
[ R | R I R | R | R | R !l R | R

T T T e e s e m e — e e e —— ———— o ——— = —

33 Bh8 a4 Qb5 ab Qe2 gad Bb2x qa7 Qc4 ga8 Ral qb8 e5 dby cd ed

' k¥ Bl k¥ B|] k Bl x l[q k | Q9 k l gk | q k I
| ddd | ddd | ddd Iqddd | ddd | ddd | dd | 4 !
I QI I | I ! | d | d I
| qPP | PP Q] PP [ PP | PP | PP I PPP | PP |
ldd P {d P Jgd P |d P |dQP | dQP | dqQ | dQ

P K Id K |1d K |IdX |dK |dX |dK {dK

| PC | PC | QpC | B QFC I B PCIB PC|IB PC|B PC|
| R | R | R | R f R IR IR IR I

T TS TS M e e m st e — e e e e —— - ——

11



41 e6 ke7 Qh4z 1-0

---------------- s Black overplays opening the kingside.

| q | q |t The rook is keeping the bishop and queen busy.

I dk | dk | 1y Now the queen is available.

I dP | dP | v Squeezing Black is more satisfying than the rook.
b P I P | w Typical maneuver for stopping the mate defense.

| 4Q | 4 Ql x Ooops. Ral won quickly.

l'd K |d K | 'y At last Black must abandon the mate defense.

'B PC | B PC| =z Black’s queen is lost.

R IR [

et n o o —

G 9/30/97 - GS-AR - Cg2 - 1. Nf3/h4 (= White’s two first moves) .
Black gets overly frisky with his king, and a swinging knight mops up.

... g5 hg nf6 d3 rg8 Nh4 b6 e4 Bb7 f4 e6 NA2 h6 g6 fg
Irnbgkbpr | rnpgkb rlrnbgkbr |rnbgkbr frn gqkbr |rn gkbr [rn gkbr |rn gkbr |
|dddddd dldddddd dldddddd dld dddd d|dbdddd d|dbdd d d|dbdd d |dbdd I
| | n | n [d n |{d n |d dn |d dndl d dndd |
| d | P | P | P | P P | P | |
| Pl l I NI P NI PP N PP N| PP Nj
| N N I PN | P | P [ P t P | P l
{PPPPPPC |PPRPPPC |PPP PPC [PPP PPC |PPP PC |PPP  C |PPPN C |PPPN C I
IRNBQKB R|RNBGKB RIR BQKB RIR BGKB RIR BQKB R|RNBQKB R|R BQKB R|R BQKB R|

T T T T e e e e e e e e e ———————— D et ——

9 Be2 g5 BRE ke7 Ngb kd6y Nc4 kc5 a4 kd4z c3 kcb b4 kc6 NeeS kd6
lrn gkby |rp q br Irn q br |rn q br | qbr {rn g br lrn q br |r n q br|
fdbdd |dbddk [dbdd ldbdd | dbdd | dbdd ldbdd i dbdd !
[ 4 dn d| g dn d| d kdnNd| & dnNd| 4 dnNd| 4 dnNd| dk dnNd| d kdnoNd|

| d | dB| dBl k dB] dB| k dB| dB| N dB|
! PP N| PP N| PP | NPP |PNkPP |PNPP [PPN PP |PP PP |
[ P | P | P I | P [ PP [ PP | PP

IPPPNB C |RRPy C IPPPN C [PPP C | PP C | P C | o c |

IR BGK R[R BGK R{R BQK RIR BQK RI|R BQK R|R BQK RIR BQK R|R BQK Rl

TTTTTTTY S e me e e e mmr e e —— e e ——— e o e ———— e 4t — ot e
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17 Nf7 kc6 Nd8 kd6é Nb7 kc6 Nd8 kd6 e5 kd5 Qf3 ne4 c4 kd4 Qed kc3

T N A e M e —m E e e e e e —— i ———— ————— e e o

Irn q br [rn N br |rn br {rn Nbr lrn N br lrn N br lrn N br |rn N br |
l[dbdd N [dbdd |dNdd ld dad Jd dd Id dd id dd fd dd |
| dk dnNd| d kdnNd| dk dnNd| d kdoNd|] d doNd|l d d Ndl d d Nd| 4 4 Nd|
r dB| dB| dB| dB| kP dB! kP dB| P dB| P dB|
|PP PP |PP PP |PP PP |PP PP |PP P |PP nP |PPPknP |PPP QP |
| PP | PP | PP | PP | PP | PP Q | PQ | kP

[ c | C | C | C I C | c | C | C |
IR BQK RIR BQK RI|R BQK RIR BQK RIRBQK RIR B K RIRBK RIR BK R{

25 Qa8 nc6 Nc6 c6 Qf8 rf8 Nf8 mop y B missed a good shot: after

H

1 ...

-------------------------------- 9 Be2 g5, Bh5 ke7, Ng6é kf7!

1@ N br IQ br | r | N | after whch B finds a haven

|d dd jld d ld d id d [ at h8.

| dn d Nd| dd d Nd| dd d Ndl dd 4 d] =z If 13 .. ne4, Be3 kb5, ¢3 nc3,
| P dB| P dB| P dB| P dB| e3 ke3, Rcl kb4, Bd2 kc4,

{PPP P |PPP P [PPP P |PPP P | N4eb5 kd4, Be3 kc3, Qe2 kd4,

| kP | kP | kP | kP [ Qf2 kd5, Bf3 kd6, Bb7 wins.

| C | C i C | c |

[IRBK RIRBK RIRBK RIRBK RI

9/10/99 - GS-AR - Cg2 - 1. f4/h4 (= White’s two first moves).
Black is late in opening the g file.

b6 e4 bb7 d3 g6 Be2 f5 Bf3 nf6 e5 ngé4 Bb7 nc6 Ba8 ga8

T T ST e e et - E e e ———— e ——————— e ———— o ——— e o

|rnbgkbnr |rn gkbnrirn gkbr |rn qkbnr|rn qkb rlrn gkb rlr qgkb rlq kb r|
|d dddddd|dbdddddd|dbdddd d|dbddd didbddd dldbddd d|dBddd dld ddd dl

| d | 4 | d d| d dld ndtla dfldn d1!dn 4}
| I I [ d | d | Pd | Pd | Pd |
| P P} PP P| PP P| PP P| PP P| PnP| PnP| PnP|
| I | P | P ! PB | PB | P [ P |

IPPPPP C |PPPP C [PPP C |PPP B C |[PPP C |[PPP C [PPP C |PPP C |
I RNBQKBNR | RNBQKBNR | RNBQKBNR | RNBQKBNR | RNBQK NR | RNBQK NR|RNBQK NR|RNBQGK NR!

13



9 Nf3 nd4 Rh3 bg7 c3 nf3 qf3 c6 Ke2 h6 Be3 e6 d4 Ke7 Nd2 g5
lq kbrlg k rlg k rlg k rlqg k rlg k rlq riq r| .
Id ddd dld ddd bdld ddd bdld dd bdld dd b ld d bld dkbid dk b |
| d d | 4 dt!ad dldd d| dd dd| dd d dd| dd 4 dd| dd 4 d|
! Pd | Pd | Pd | Pd | Pa | Pd | Pd | Pdd |
| n PNP! n PNP| PNP| PNP| PNP| PNP| P PNP] P PNP|
[ PN | PNRI PPnRI PQRI PP QR PPBQ Rl P BQ Rl P BQ R|
[PPP C |[PPP C |PP CIPPP C|PP KCIPP KC |PP KC IPP NK C )
IRNBQK RIRNBQK  [RNBQK  [RNB K  |RNB IRN IRN IR |

T S e s e mr—— e — .- e ———— m— i ———— s - v ———— o _———— ——

lq ri gr! qrl qr| q ! q ! q l q |
fd dk b |d dk b |d dk ld dk ld dk ld dk ld dk ld dk |
| dd d | dd d [ ddd bl ddd bldid r| dd 4 Rl d d R d d PR

I Pdd | PdP | PdP | PP | PP | PPl d4PP| P
| PPN | P NI P NI P dl P 4} P I P fa

| PBQRI PBQR| PBQR| PB R|] PB | PBd| PBNd| P BNG |
PP K C IPP NK C [PP NK C |PP NK C |PP NK C |PP NK C I[PP K C |[PP K C |
iR R I R| Rl R| | | l

T T T e e e — - e mr e S ————— o ————— e . 1t S = e

---------------- Until the last move, the game was still on the line.

| 34 QeB wins: one tale is 34 QeS8 ka6, Qc8 kb5, Bati
PP K C | kb3, Rc3 ka2, Qc4 kbl, Rcl kb2, Rc2 ka3, Bb4 ka4,
| Bd2 ka3, Rc3 kb2, Qb4 ka2, Qa3 kbl, 46 Rcl 1-0.

| kql k q | If carelessly 26. cd instead, d5 draws for Black.

ld d ld 4 | E.g., 26 cd d5, ed kd7, Bf4 Qf8, Rh7 kb5, Bf3 qf5, Rc7
| & d PRI d dBPR| kb5, 32. f7 qe4 draws: Kdx qg6 0-1; Kfi gbl, Nel qed =;
! P B P | Kf2 gbl, Nx ge4 =; Kf2 gbi, Ke2 ghl 0-1. Indeed any

| 4 d | move But 32 ... ge4 loses. E.g., 32 ... qbl, g8=Q ghi,
|

!

|

——— et - — > — —_———

If Black avoids check with the a-Pawn he lasts longer:

34 Qe8 ka6, Qc8 ka5, Bel ka4, Rc4 kb5, Rb4 ka5, Rb3 ka4, Ra3 kb5,
Qd7 ked, Qe6 kb5, QA7 kc4; Rad kd5, Qb7 ke6, d5 kf5, Q47 kg6,
Rg4 kif, Rf4 kg6, Qf7 kh6, Rhé 1-0, captures Black queen move 52.
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An Introduction to Capped Pawn, Chapter 3. Miscellani. 7/7/07
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| When time is rumning out, White needs a mate, not a mop .

!

Id Q | A quick mate follows Qe7 kh6, NfS5: al kh5, Qh7 kf5, Qh6
| | or b} kgB, Qg7. If Qe7 kh5, Qf7 al kh6, Nf5 kg5, Qf6 or
| PP k | bl kh4 or kg5, Qf6 or c] ngé, Qgb.

! b n N|

[ P|

|r PCK|

I RR |

Note KBE was mandatory, else Black takes the opposition.
Forcing Ch7 costs the opposition, so this position, but
————————————————— with the Kingside shifted down one square, is a draw.

T T T T e e e e e e e e et e = ——— et ——— e

| r | It might seem that White is lost on the left, with | |
I | so many lines open and the cappy moved. Yet Nh2 [ I
| | draws. After kel, Bf3 rb3, Kg2 rb2, Kgil rf2, Bg4 | |
| | rf8, Kg2 rg8, Nf3 ke2, Nh2 etc. And Ke2, Bf3 ke3, | |
| | kg2 is no better. After rg8, Bf3 kd2, Ngé4 rbs, I N |
| NC | Kf2 rb2, Kfi we arrive at titled CCCC position ! BC |
I | on the right. Not only is the cappy cloistered, | r k |
| k KB| but so is the bishop: neither has to move again. ! K |
Pawn Ending Black to move wins, but not with kg3, Kh7 kf3, Kg6 ke3,
----------------- Kf5 kd3, Kf4 kc3, Ke3 kb3, Kd3 ka3, Kc3 ka2, Kc2 a3,

| I Ch7, =. The win is to force Ch7 before capturing ka3:

[ K d | kg4, Kh7 kf5, Kg7 kg5, Kh7 kf6, Kg8 kg6, Ch7; then

| C | White has no tempo move after a3 above, so loses.

| | White to move can draw only if he gains the opposition,

| d |  Kh7 kh4, Kh8 kgd, KgB8 kf4, Kf8 ked4, then switch tactics

| p k | to box in the king: Kg7! kd4, Kf6 kc4, Ke5 kb4, Kd4, box.

I l

! I



After the "opening" e4-nc3 e5, nf3 £6, neS e5, Qh5 ke7, Qe5 kf7, Bcd kg6,
-------- 'Qf5 kn6, d4 g5, h4 kg7, Q7 k6, Bg5 qg5, g5 kg5 we arrive at:
frnb bonr| Rh5 kg4, Rh4 kh4 (kgb, Qf5 kh4, C£3], Qf5 bd6 [mate in 6] .
ldddd Q dl  £4 kg4, Qf5 kg3, 0-0 any, Rf3 any, Cg3 [mate in 5].

f | Rhb kg4, Qe8 [or Qg6!] any, Be2 kf4, Cg3 [mate in 4].

| k [ With the Pf2 and Cg2 switched,
|  Bdd ! Rh5 kg4, Ne2 bb4, Kfi any, Cf3 [mate in 4].
| N | Other tempting lines, which allow Black to "escape":
[PPP PC | After f4 kg4, kf2 nf6, Be2 kf4, RhS rg8, Black escapes.
IR XK Rl After e5 h5, Black escapes.
v Almost a win for White 2 Rg3 rh2
! k | Black is to move in the following position. | k|
| | It is easy to see that if Black can trade | [
| PC |  his rook for the pawn, the game is drawn: I PC |
| K | if the cappy were on the fifth rank White [ K |
! B | could mate, but he has been forced to the I B |
I R |  sixth rank for safety. After 1. ... rg2 | R |
Ir | 2. Rg3 rh2, how is White to continue? Black | r]
I | threatens rh7-g7-g6. Call this position A. [A. I
After 3 Rc3! rh7, Rc7 rh5+ we have position B (shown later).
To see how White can lose, consider instead
3 Re3 rg2 f7+ kf8 Rc8+ kg7 Beb+ kh6 £8=Q kh5 0-1
| k| k | R | R | R Q@ | Rc8+ was the losing move.
! I P oI Pk | P | | Had Black played 4 ... kh8
[ PC | C | c | Ck| C | then Rh3+/Be5+/Rh8+/£8=0Q+
| K | K | K | BK | BK k| 1-0. After 4 ... kg7
| B | B | B | | [ lor 4. ... x£8, Bd6+ kg7],
| R | R I | | | Beb+ kh6 [kf8, Rc8+ ke7,
| r | r | r | r| r | £8=Q+ kd7, Qd6 1-0] we
| | I | | |

arrive at the following.

T T T e T e e e e . e - ——— - — ——



Beb+ kh6 . Rg3 rh2 Rc7 rhb+ Bg3 kg7 Bf4 kg7

B Ty —— ——— e e —— v e ————— o ————

| | The obvious 6. £8=Q+ | k | k| | I
| P | only draws(!): kh5 | | R I Pk | Px |
I Ckl then 7. Bg3 rf2+ =, I PC | PC C I c |
I BK | or 7. Rg3 rxg3 =. | K | K rl K | K |
| | Tries for 1-0 are | B | B | ! B |
I R | 6. Bg3 kg7 (C) and | R | { R B R |
I r | 6. Rg3 rf2+ forcing [ ri | r | r |
| I [ I I I I

7. Bf4+ kg7 (D).
What is the value of positions A-D? Subsequent positions can be complex.
Starting from A, 3 £7+ kf8, Ke6 rh7? [rh6 =], Bd6+ kg7, 6 £8=R rh6,
Rf7+ kg8 = [not kh8, BeS+ kg8, Rg7+ kf8, Rf3+ keB, Re7+ kd8, Rd3+ kc8,
Rc7+ kb8, Rh7+ 1-0 wins with the swinging rook]. 1If instead of 6 ... rh6
Black tries (eg) rhl, then Rf7+ kg8, Be5 yields position E.

after 8 Be5 Rgh3 rf1
{ k | Black must vacate the h file as | k|
[ R | Rg7+ kh8, Rh7++ wins the rook, and | R|
I K C | Rg7+ kf8, Rf3+ yields the swinging | KC |
| B | rook as above. 8 ... rel sets the | B [
i |  trap Rh3 re5+, Ke5 stalemate. | |
[ R | Then 9 Rg7+ kh8, Rh7+ kg8, Rgh3 | R|
| | threatens the swinging rook, but I |
|E. r|l 11 ... rfl seems to foil that plan. |F. 1r |
Starting from B, Bgb rhl almost loses to f£7+. Note ... kg7, Bf6+ kh6
[k£87 g7 mate], £8=Q+ kh5, Qe8 1-0. [If Rc7 is on c8, then after Qe8:
rfl, Ke6 rel, Beb rgl! Black draws.] Or ... kf8, Be7+ kg7, Bf6+ ditto.
But ... kh8!, Rc8+ kf7, BeS+ etc. With White to move after Bgb kx8,

is there a file x so that White can force a win with the bishop pinned?



T T e v e - ————— o —— = —

| k | k| I k| ! k]
f R | R P | R Pk|] R P | R Pkrl R P I
I PC | C i C | C | C | C |
! KBr| KBr| KBr | KBr| KB | KB |
I | ! ! | ! i
! I I I I | [
I | I I I f I
|* A B IC. ID. |E rl

From *, all Black rook moves lose, so: 1. Ra7 kf8 or h8 threatens rhi,
so: 2. £7 7 . The question is with Black to move, from which positions
A,B,C can Black safely move the rook? * or A none; B rh7; C rhi,rh2,rh3.

*: rh8, 7+ kg7, Bfé+ kf8, g7m 1-0.
rhi, f7+ kf8, Be7+ kg7, Bf6+ kh3 [kf8, g7], £8=Q+ kh5, QeS8 rcl+,
Ke6 rel+, Beb rgl, Rh7+ 1-0. Note if instead of Be7+, Rc8+ =,
A: rh8, Rc8+ 1-0. rhl see *,
rh7, Rc8+ kg7, Bf6+ kh6, Rh8 kh5, Bg7 1-0.
B: rh8 or rhl see *. rh7 is position D.
C: rh7, Rc8+ kg7, Bf6+ see *,.
rh6, RcB8+ 1-0. rhl is position E.
There appears to be no win for White from the initial position.

- ——— —— ————

The follpying Position presents unusual complications, qhere P,C,P
are on the 4th rank. Black to move can draw with 1. .. kd4 2. Kg6 kc4
3. hb kd3 4, hﬁ c4 5. h7 c3 8. h8=Q c¢2, since later, with kb1, Qb3 is
answered by kal, a textbok maneuver. Can Black win?
| - . | Instead, B can try 1. .. kf4 2. Cgb kf5. Now W must lose
! | the h-pawn or the cappy: 3. Kh6 kg4 4. h5 kf5 5. Cg6 kf6
| d K| 6. Kh7 kg5 7. h6 kf6 8. Cg7 kf7 9. Kh8 kg6 10. h7 kf7 0-1.
| Pk CPl But W can draw if at move 4 he abandons the Phd: 1 ..kfd
———————— 2. Cgb kfb5 3. Kh6 kg4 4. Kgb kh4 5. Kf5 kg3 6. Cg6!
abcdefgh  After kf3, Cg7; after kh4, Kf4; after kh3, Kgb. Draw.

W had just enough cappy moves left to buy the opposition.
With the c-pawns on c5,c6 then White can “"spend" Cg7 early and draw
with 3. Ogf kf4 4. Cg7 kf5 5. Kh6 kg4 6. Kgb6 kh4 7. Kf6! (if kh5
8. KI5, if kg4 8. Kgb) as he seizes triangular opposition.
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The Black try 1. .. kf4 2. Cgb kg3 only draws after 3. Kg6 kh4 4. Kf5
kg3 5. Cg6 as above. But note that if the Kingside position is
advanced one rank up the board, then the same maneuver wins for Black:
1. .. kfb 2. Cgb kg4 3. Kg7 kh5 4. Kf6 kg4 5. Cg7 kf4, and Black,
having the opposition, wins White’s pawn no matter where on the
c—file it is blockaded.

Pawn + Cappy

When do P+C win? The only cases of interest are Cf-h and Pb-g,

as can’t mate with Ce or promote with Pa,Ph. Let the C,P be on rank i,
' 1<i<7, separated by j files [j=0 was P6 above], and the K,k be in

opposition, between the C,P on ranks i-1 and i+l with Black to move.

Aside from P6, the only cases which win are j=1,i<6; j=2; and j=3,1i=6.

The surprises are: White to move doesn’t help, and j=3,i=5 is a draw.
j=1,i=6 is a draw as | xkx | is a draw with White to move.
| xxx |

[K any, k attacks P; | PKC | K defends, k straight back, etc.]
(j=8, i=6 wins as Black must approach P from the 8th, and White
can select the tempo, and so promote without moving the cappyl
Single column problem. Find B move which enables W mate-in-2.
f-file: W Qfi, Kf6. B: Bf5, Kf8. Sol: Bh7 Qh3. D. Monn 2005
Keep your King on the pink squares.
Make a house with your pawns and your King will be safe inside.
Is that a free Pawn?

1/16/98 PL-GS NOT CAPPY , e 7

e4 c¢b, Bcd Nc6, b3 eB, Bb2 Nf6, e5 Nd5, Qf3 N5e7, Nh3 Ng6,
Qg3 Qc7, f4 d6, ed Bd6, 0-0 a6, Bg7 Rg8, Bc3? b5, Bd3 Bb7,

»  Bgb Rg6, Qh4 Ne7, REJ QC6, Qu7 000, Qf7 Rg2, Kf1 Rf2, Kf2 Qg2,'

Ke3 Nd5, Kd3 Nf4, Ke3 Qe2 mate.

.t



When queen vs rook may not draw

B L T pep—— ——— —————

| | Consider the 1-0 position A) on the left. | k¥ X
d dNk | Black’s rook is hopelessly out of place. ld dN

| P | With his king on e7 or d8, ra6 loses to NbS. | P
lr PPK d| The quick win is 1. Kf5 kd8 2. Kf6 keS8 |x PP
|Pd Cl 3. Kgb ke7 4. Kg7 kd8 5. Kf8 kc8 leads |Pd

| P | to position B) on the right. It might seem | P

| [ that 3. e7 kxN 4. Kf7 was a shorter route |

fA) I to 6. e7 kxN 7. Kf7, but rc5 may be 0-1! IB)

Kf7 rc5 e8=Q kd6 Qd8 keb Qgb kd4* Qd2 kes Qg2 kf4

[ | Q@ | Qq ! | | I
|ld dkPK |dd K ldd K |dd K ldd K |dd K |
[ bk | | [ | |
I P dl P dl rPk d| rP Qdl P d| rP d}
IPd ClPd ClPd ClPd x C|Pd k CiPd Xk C|
[ P [ P | P | P | P | P I
i I | I I Q I Q |
! ! [ ! ! | I

T T T T T T S E T e — e E e . S e —— .

T T T T T N e e e e e e e e e e e o —————— > o o

| I | I | | !
ld d Id ¢ ld d ld d id d Id d ld
! K | K | K | I I | 4
[ P 4l P dl P dl P Kdl P K d| PK 4l K d
lpd  k Clpd &k Clpd Clpd Clpd Clpd Clpd C
| pr | p rip klp k Ip k¥ |pk l pk

I Q| Q | | I I I

I | ! I I I I

If Qhi insteaq of Qxr, then rg4 and White hasn’t a perp.

From B) the win is 6. Ne5 rc5 7. e7 rd5 8. e8=Q rd8 9. Ke7 rxQ

10.; KxR then the K+N win the a,b,c pawvns and promotes a pawn.

* Better for White after Qgb kd4 was Ke6, which probably draws.
But rf3 still presents problems as the White pawns are weak.



| How does White win this game? Kf8 ral, £7 ra6 only draws.
| Idea 1: Masking the e-pawn with the N doesn’t seem to work:
| Nh5-Nf7-Nd8-Kf7 rhl, 1. e8=Q rh6 2. Nb7 kb7 3. Qe4 c6 is
| only a draw! Or 3. Qb5 kc8, Qa6 kd8 =. Or 3. Rb5 kab =.
| Idea 2: Trade the e7 and R at h8 for r: RhS rgl, Rh4 ral.
| £77 rab wins; Rh5 rgi repeats; Ne5 rgl, Rg4 rhl stops £7.
| Idea 3: Reb5 rgl, Re4 ral, f7 ra6, Nf6 and Rg4 wins quickly
| with e8=N then soon £8=Q.
-------- Idea 4: f£7 re7, Nf6 rf7, Kf7 wins by a slimmer margin.
f ri A typical escape by White
lrd k dl After 1. Nfl, Black wins quickly with rg8, threatening both
| d | bd2 and bh7. Instead he took the direct approach bh7:
ld d n| Nf1 bh7, Rd2 nf4, Cg3 nhb5, Bh5 hb, RAS keB, f4 ef, Cf4 rgs,
/P Pb P| Ne3 raa8, Kf2 rac8, Rhdl rcf8, Re5 kf7, Rf5 Kg7, Rdd5 kh8,
| P B | Rf8 rf8, Rf5 rd8, Nd5 rg8, Nf6 rc8, Rh5 rc7, Rab rg7,
| PN PC | Nab kg6, Kf3 flag.

Mating with double check

Minimum material seems to be N,B,R,R,C vs p. |m. next |

I I
[ | With room to maneuver [cappy on ranks 3-5, | B |
| R | files e or f], White mates by blockading the | R N |
{ kdK| Black pawn on an adjacent file with the N on | kdK |
| N | a color opposite that of the bishop, forces | |
I C | the pawn to advance to the N, places his ! c |
| |  king next to the pawn, and hems the Black I |
I BR | king into two squares as on the left. Then | R |
-------- the mate is BaS kf4, Bc7 kf5, Nf6 g4, Cgh. ————————
We compress the above position to the next diagram. *kdK
The central bishop diagonal has been marked with *’s. B *N
The other roock is on any square marked "x" or "." . Cx
For the notation that follows, C is on £5. 1. B
1 R *

After kf6, it takes a while to hem in the king:

ReB kg5, Reb khb, Bc7 kgb, Rh4 kf6, Rgd kf7, Rf4 kf6, Bd8 kf7,
Re7 kf6, Re6 kf7, Neb kf8, Nd7 kf7, Reb mates next. Position 1.
[After pgb it’s Cg6 en passant, double check, cappy mate. Nice.]
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I
|
|
|
I
I
I

Here the cappy is on h2-h5. With Ch5:

"Bd6 kh6, Bf4 kh7, Nh8 mates next.

Position 2.

Here the cappy is on g2-g4. With Cg4: K{ | R |
BcS kgh, Be3 kg6, Ng7 mates next. Rl 1 K kdij
This also works with ph, near right. B kd| | B N|
kg5, Bc7 kh4, Bb6 kg5, Bds kg6, Ng7. Nl C |
With Cgb, ph7 we begin from far right: cl | R |
B47 kg6, Bc8 kg7, RE5 kh8, Bc6 kg7, RI | |
Be4 kh8, Rf8 kg7, Nf7 mates next. 4. | | I

I I

The case Cg5, pf7 seems to require more material. w——-v——m

| Summary: |
[ |
I [
i 1152]
| 1172]
I 11721
| 1172]
| |
| 0:B|
| d I
I I
! k|
[P C |
| y P
I |
f I

Cases are listed at the cappy location, except "B" means
5 with ph7, open question with pf7. And, "7" means 3 if
pf, 4 if ph.

Alvays: K is on x or y (or ...) and :B means Black to move.
It yould seem that White wins, even though to win he must
promote one Pawn without losing the other, as W+eC = draw.

It is easier to maneuver the White King behind the Pawns than
it is for the Black King to maneuver in front of the Pawns.
But a close look suggests the position is a draw. We pose

it as a three Pawn prbblem in which a Pawn may not promote,
and Black draws if he captures any Pawn.

Claim: with W to move, b5 b6 is always worse for White.

All positions are drawn, since the best W can do is reach another.



-y —— - — -t s ———

| 1:Bl | 2:Bl | 3:W 4:W|
| d | 14 1 d I 1 d
f Ik 1k (. k|
! kP | | Pl | Pl | P |
(PP | |IPP | |P P | |PiPj |
[ xy | | wxyzr | | wxyzr | | |
| I [ stuv | | stuv | | !
| bl I o 1
In 1: Kx or Ky, kd6=3.

’ In 2: keb forces 1 (Kz loses b4).
In 3: Kc4 ke5 forces 1, Kd4 ke6=4i, Kf4 ke6=4j, K other is 2.
In 4: e5,g6 lose a Pawn, Kany keb forces 1.
I 5:Wl | 6:Wl | 7:Wl 8:W| | 9:W|
[ d I 1 d | | d Pl d I d
! kb I ! [ 1 k] | k|
| I k | [ k|| [ I
I P PP|] | P PP IP P | | PK | | P PK |
I xyz | | K | I KP | | Pl | P |
[ (. ! | [ bl |
! o ! | [ o I
In 5: Kd4 kg6 or Kf4 kd6 force Ke3, then ke5=6.
In 6: Kany loses a Pawn, and gb=1.
In 7: g4 keb6=5, Kd3=0.
In 8: e5 kf5 loses g Pawn, g4 kf6 Ke3 ke5=6.
In 9: e5 kd5 loses b Pawn, g4 kd6 Ke3 ke5=6.

From O: kd6 Kd4 ke6=8, or kf6 Kf4 ke6=9, or kf6 Kd4 ke6=8. Draw.



| k | ' What is the outcome with White to move?
[ R | Ne7 kh8, g7 kh7, g8=B kh8, Ng6 kg8, h7 is mate.
| PC| [so for example, if rook is on f7 not b7, 1-0]
| NK | Ne7 kf8, g7 ke8?, g8=R kf7, Ng6 ke6, Nf4 kd6, Rg6 kc5,
| | Rb2 rhi, Nh5 Rh5 =,
I |
t d | RR
| r l RR c7 d7 e7 £7 g7
-------- c6 d6 e6 £6 g6 CC
c5 db e5 f5 KK
c2 fork square b4 d4 e3 el c4 d4 e4 NN g4
from/forks ¢6 d5 d3 e6 5 f£3 c3 d3 e3 £3 g3
Pp €2 d2 e2 £2 g2
Iy
| | What is the outcome? Black to move wins: kd5, Ke3 kc4,
| d | Ke4 b5, d5 b4, d6 b3, d7 b2, ds=Q bl=q,
Ik |
I f
! P !
[ K |
I PC |
l I
1-0. How?

-------- With W to move, a6 seems to win as B is in Zugswang.
| * x % x| But it’s Black’s move, and after kb7, what? 1. Bd3,
[* k * * | ka7 or kc7? ka7, 2 Kb5 kb7, 3 Be4 kc7, 4 Kcb kd7,

| * * C x| 5 Kd5 kc7, 6 Ke6 kb8, 7 Kd6 ka7, 8 Kcb ka6, 9 Kb4
|P K xB* | ka7, 10 Kb5 kb8, 11 Kb6 ke8, 12 BcS wins. And ke7,
| % % % x| 1 Be4 is a faster version of the above. Endgames

i* * * * | 1like this aren’t in the chess literature. Note

| d * % [ kp7, 1 Bd3 kc7, 2. a6 kd7, 3. Bch kc7 is a draw,

|* * * ¥ | as both the cappy and a-pawn are weak.

————

10



What is the outcome with White to move?

[ ! ! [

{ B | It appears White may have enough to force | B |

[ ! a position as on the right, which wins. | f

I N C| | RC|

[ P| | P|

| RK | | I

f | lr  NK |

| k| | k|
Draw B wins W wins Can W win?

[ (I (. bl i k |

| | ld | ld (I I Id d dad!

! [ [ P [ 14 b |

| [ (I (. b I

| R | [Pk | 1k (I | | nPxr P

! k PC | | PC | | PC | | ' I P NB |

lr P (I (. | P R PC |

| k[ | k1 | k| | | | KR !

[It once occurred to the Cappy players that White had earlier
made an illegal move (possibly the best move for that position!).
The net result has been that Black on occasion uses extra

time checking that the last White move was kosher.]

Found by Jack Rogers 7/6/97 on a Stash Earl Grey Tea wrapper:

“There are few hours in life more agreeable than the hour
dedicated to the ceremony known as afternoon tea." Henry James

11



B1

Gl

(je8 almost wins, but Black has a narrow path to a draw.

—— et o e e e — e ——

Q f

d d !
R |

kddPp [

c |

P P r ]

PP !
K I

e — ———— - ———

Qe8 kc4 Qa4 kd3 Qdi kc4d b3 kb5 a4 ka5 bd b4 b4 kb4 Qel 1-0

ke3 Qel . Qg3 . Rg5 1-0
ke4 Qhl kd3 Qf1 ke4 Qf4 1-0

Qe8 ka5 b4 b4 b4 kb4 Qf8 kb5 Qe8 kab Qd8 ka4 Qd7 ka3 Qe7 ka4

Qd7 ka3 Qdé ka4 Q(d7 ka3 =

——— e~ ———— - —— ...-—_—_-.._-h____._—_-_.____._-.-_~_.__........__.....___-._—___-.——__-...

6/11/91 GS-DR Cg2
d/ed4 e5, de Nc6, Bf4 Ne7, Bg3 Ng6, Nf3 Bc5, h4 0-0, h5 Nge7,
Bc4 d6, ed cd, Nbd2 Bg4, c3 Ne5, Be2 N7c8, Neb Ne5, Bgd Nd3,

Kf1 Qf6, Qf3 Nb2, Qf6 gf, Be2 Na4, Rci Kh8, Bh4 h6, Bf6 Kn7,
Bd3 Rae8, Rh3 Ref, eb Kg8, Ned de, Rg3 Kh7, Ncb5 e4, Ne6 fe,
Rg7 Kg8, Rf7 KgB, Rf8 Kf8 1-0. Black pieces get snarled up.

4/15/98 GS-AR Cg2

e/h4 g5, hg nf6, e5 nds, d4 h6, g6 £fg, BA3 rgs, Qg4 h5,
Rh& gh, Qg8 nb4, Nf3 b6, Nc3 bb7, Ne4 nc6, Bh6 nd3, cd a5,
Bf8 ra6, Gh8 ga8, Bh6 kf7, Nfgh kg6, Qg7 kf5, Qf7 kgd, Qf3 khd,
g3 mate.

9/11/77 GS-AR Cg?2 early game

d4/Nc3 d5, h4 hb, Nf3 Nc6, Bf4 e6, e3 Bd6, Neb f6, Ng6 Rh7,
Be2 f4, ef4 Nce7, Bh5 Rhb, Qh5 Ng6, Qg6 Kf8, 0-0-0 ne7,

Qh7 Qe8, nhb eb, feb Bf5, h8 Ng8, Rdel Qf7, f6 Qf6, f4 Be4,
Ne4 Qf4, Nd2 Re8, Refl Rel, Rel Qf2, Rhfl c3,0Qg8 g8, Rf2 1-0.
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